

$$\begin{aligned}
 x + 5 &= 3(y + 5) \\
 \Rightarrow x + 5 &= 3y + 15 \\
 \Rightarrow x - 3y &= 15 - 5 \\
 \Rightarrow x - 3y &= 10 \quad \text{--- (1)}
 \end{aligned}$$

Five years ago

$$\text{Jacob's age} = x - 5$$

$$\text{Jacob's son's age} = y - 5$$

$$x - 5 = 7(y - 5)$$

$$\Rightarrow x - 5 = 7y - 35$$

$$\Rightarrow x - 7y = -35 + 5$$

$$\Rightarrow x - 7y = -30 \quad \text{--- (2)}$$

$$\text{for (1)} \quad x = 3y + 10 \quad \text{--- (*)}$$

Substitute eq (*) in eq (2)

$$3y + 10 - 7y = -30$$

$$\Rightarrow 10 - 4y = -30$$

$$\Rightarrow 4y = 40 \quad \Rightarrow y = 10$$

$$x = 3 \times 10 + 10 = 40 \text{ yrs.}$$

Ex-3.7

$$(i) \quad x + y = 5 \quad \& \quad 2x - 3y = 4$$

Elimination

$$x + y = 5 \quad \text{--- (1)}$$

$$2x - 3y = 4 \quad \text{--- (2)}$$

$$2x + 2y = 10$$

$$2x - 3y = 4$$

$$2x + 2y = 10$$

$$\begin{array}{r} 1- \\ (-) \end{array} \quad \begin{array}{r} (-) \\ (-) \end{array}$$

$$-5y = -6$$

$$\Rightarrow 5y = 6 \Rightarrow y = \frac{6}{5}$$

$$x + y = 5$$

$$x + \frac{6}{5} = 5 \Rightarrow x = 5 - \frac{6}{5} \Rightarrow x = \frac{25-6}{5}$$

$$\Rightarrow x = \frac{19}{5}$$

Substitution

$$x - y = 5 \quad \text{--- (1)}$$

$$2x - 3y = 4 \quad \text{--- (2)}$$

$$x = 5 - y$$

$$\Rightarrow 2(5 - y) - 3y = 4$$

$$\Rightarrow 10 - 2y - 3y = 4$$

$$\Rightarrow 10 - 5y = 4$$

$$\Rightarrow -5y = 4 - 10$$

$$\Rightarrow -5y = -6 \quad \Rightarrow y = \frac{6}{5}$$

$$x + y = 5$$

$$\Rightarrow x + \frac{6}{5} = 5$$

$$\Rightarrow x = 5 - \frac{6}{5}$$

$$\Rightarrow x = \frac{25-6}{5} \Rightarrow x = \frac{19}{5}$$

(ii) $3x + 4y = 10$ & $2x - 2y = 2$

Elimination

$$2(3x + 4y) = 10$$

$$\Rightarrow 6x + 8y = 10$$

$$3(2x - 2y) = 2$$

$$\Rightarrow 6x - 6y = 2$$

$$6x + 8y = 10$$

$$6x - 6y = 2$$

(-), (-)

$$14y = 8$$

$$\Rightarrow 14y = 8 \Rightarrow y = \frac{8}{14} = \frac{4}{7}$$

Substitution

$$3x + 4y = 10 \quad \text{--- (1)}$$

$$2x + 5y = 2 \quad \text{--- (2)}$$

$$3x = 10 - 4y$$

$$\Rightarrow x = \frac{10 - 4y}{3}$$

$$2\left(\frac{10 - 4y}{3}\right) + 5y = 2$$

$$\Rightarrow 2(10 - 4y) + 15y = 6$$

$$= 20 - 8y + 15y = 6$$

$$= 7y - 8y = 6 - 20 \Rightarrow -1y = -14 \Rightarrow y = \frac{-14}{-1} = 14$$

$$2x - 2y = 2$$

$$\Rightarrow 2x = 2 + 2y = 2$$

$$\Rightarrow 2x - 2 = 2 \Rightarrow 2x = 2 + 2 \Rightarrow 2x = 4 \Rightarrow x = \frac{4}{2} = 2$$

(ii) $3x - 5y - 7 = 0$ & $9x = 2y + 7$

Elimination

$$3x - 5y = 7 \quad \text{--- (1)}$$

$$9x - 2y = 7 \quad \text{--- (2)}$$

We multiply first eq by 3

$$3(3x - 5y) = 3 \times 7$$

$$\Rightarrow 9x - 15y = 21 \quad \text{--- (3)}$$

$$9x - 2y = 7$$

$$\Rightarrow 9x - 15y = 21$$

$$\Rightarrow 9x - 13y = 14$$

$$13y = -5$$

$$\Rightarrow y = \frac{-5}{13}$$

putting $y = \frac{-5}{13}$ in eq (2)

$$9x - 2\left(\frac{-5}{13}\right) = 7$$

$$\Rightarrow 9x - 2 \left(\frac{-5}{13} \right) = 7$$

$$\Rightarrow 9x + \frac{10}{13} = 7$$

$$\Rightarrow 9x = 7 - \frac{10}{13}$$

$$\Rightarrow 9x = \frac{7 \times 13 - 10}{13} \Rightarrow 9x = \frac{91 - 10}{13} \Rightarrow 9x = \frac{81}{13}$$

$$\Rightarrow x = \frac{81}{13} \times \frac{1}{9} \Rightarrow x = \frac{9}{13}$$

Substitution

$$3x - 5y - 4 = 0 \quad \text{--- (1)}$$

$$9x = 2y + 7 \quad \text{--- (2)}$$

from (1)

$$3x - 5y - 4 = 0$$

$$3x = 4 + 5y$$

$$\Rightarrow x = \frac{4 + 5y}{3}$$

putting x in eq (2)

$$9x = 2y + 7$$

$$9 \left(\frac{4 + 5y}{3} \right) = 2y + 7$$

$$\Rightarrow 3(4 + 5y) = 2y + 7 \Rightarrow 12 + 15y = 2y + 7 \Rightarrow 15y - 2y = 7 - 12$$

$$\Rightarrow 13y = -5 \Rightarrow y = \frac{-5}{13}$$

putting $y = \frac{-5}{13}$ in eq (1)

$$3x - 5y - 4 = 0$$

$$\Rightarrow 3x - 5 \left(\frac{-5}{13} \right) - 4 = 0 \Rightarrow 3x + \frac{25}{13} - 4 = 0 \Rightarrow 3x = 4 - \frac{25}{13}$$

$$\Rightarrow 3x = \frac{4(13) - 25}{13} \Rightarrow 3x = \frac{52 - 25}{13} \Rightarrow 3x = \frac{27}{13}$$

$$\Rightarrow x = \frac{27}{13 \times 3} \Rightarrow x = \frac{9}{13}$$

Q2) $\frac{x}{2} + \frac{2y}{3} = -1$ & $x - y = 8$

Elimination

$$\frac{x}{2} + \frac{2y}{3} = -1$$

$$3 \left(\frac{x}{2} \right) + 2 \left(\frac{2y}{3} \right) = -1 \Rightarrow \frac{3x}{2} + \frac{4y}{3} = -1 \Rightarrow 3x + 4y = -1 \times 6$$

$$\Rightarrow 3x + 4y = -6 \quad \text{--- (1)}$$

$$x - y = 8$$

$$\rightarrow \frac{3x - y}{3} = 8 \Rightarrow 3x - y = 3(8) \Rightarrow 3x - y = 24 \quad \text{--- (2)}$$

$$3x + 4y = -6$$

$$3x - y = 24$$

$$\begin{array}{r} (-) \\ (+) \\ \hline \end{array} \Rightarrow 5y = 15$$

$$\Rightarrow 5y = 15 \Rightarrow y = 3$$

Putting $y = 3$ in eq (2)

$$3x - y = 24 \Rightarrow 3x - (3) = 24 \Rightarrow 3x + 3 = 24$$

$$\Rightarrow 3x = 24 - 3 \Rightarrow 3x = 21 \Rightarrow x = \frac{21}{3} = 7$$

Substitution

$$3x - 4y = -6 \quad \text{--- (1)} \quad \& \quad 3x - y = 24 \quad \text{--- (2)}$$

putting value of $3x$ in (2)

$$3x - y = 24$$

$$\Rightarrow (-6 - 4y) - y = 24$$

$$\Rightarrow -4y - y = 24 + 6$$

$$\Rightarrow -5y = 30$$

$$\Rightarrow y = \frac{30}{-5}$$

$$\Rightarrow y = -6$$

Ex-34

2. (i) let the numerator be x
" " denominator be y

Fraction $\frac{x}{y}$

$$\frac{x+1}{y-1} = 1$$

$$y-1$$

$$(x+1) = (y-1)$$

$$\Rightarrow x - y = -1 - 1$$

$$\Rightarrow x - y = -2 \quad \text{--- (1)}$$

$$\frac{x}{y+1} = \frac{1}{2}$$

$$\Rightarrow 2x = y+1$$

$$\Rightarrow 2x - y = 1 \quad \text{--- (2)}$$

$$x - y = -2$$

$$2x - y = 1$$

$$+1 \quad (+2) \quad (-)$$

$$-x = -3$$

$$x = 3$$

$$(3) - y = -2$$

$$\Rightarrow -y = -2 - 3 \Rightarrow -y = -5 \Rightarrow y = 5$$

$$\frac{x}{y} = \frac{3}{5}$$

(ii) let present age of nuri be x
" " " " son be y

Five years ago

$$\text{Nuri's age} = x - 5$$

$$\text{son's age} = y - 5$$

$$x - 5 = 3(y - 5)$$

$$\Rightarrow x - 5 = 3y - 15$$

$$\Rightarrow x - 3y = -15 + 5$$

$$\Rightarrow x - 3y = -10 \quad \text{--- (1)}$$

Ten years later

$$\text{Nuri's age} = x + 10$$

$$\text{son's age} = y + 10$$

$$x + 10 = 2(y + 10)$$

$$\Rightarrow x + 10 = 2y + 20$$

$$\Rightarrow x - 2y = 20 - 10$$

$$\Rightarrow x - 2y = 10 \quad \text{--- (2)}$$

$$x - 3y = -10$$

$$x - 2y = 10$$

$$-1y = -20$$

$$\Rightarrow y = 20$$

$$x - 3(20) = -10$$

$$\Rightarrow x - 60 = -10$$

$$\Rightarrow x = -10 + 60$$

$$\Rightarrow x = 50$$

So present age of nuri = 50
Present age of son = 20 yrs

(iii) let unit digit = x
let Tens digit = y

$$\text{No.} = 10y + x$$

$$x + y = 9 \quad \text{--- (1)}$$

9x (No.) = 2x (Reversed no.)

$$9(10x + y) = 2(10y + x)$$

$$90x + 9y = 20y + 2x$$

$$90x - 2x + 9y - 20y = 0$$

$$88x - 11y = 0$$

$$11(8x - y) = 0$$

$$(8x - y) = 0$$

$$8x - y = 0 \quad \text{--- (2)}$$

$$\begin{array}{r} x+y=9 \\ 8x-y=0 \\ \hline 9x=9 \end{array}$$

$$x = \frac{9}{9} = 1$$

$$\begin{array}{l} x+y=9 \\ 1+y=9 \Rightarrow y=9-1 \Rightarrow y=8 \end{array}$$

No. 10x+y = 10(1)+8 = 10+8 = 18

(iv) Let ₹ 50 notes be x
" ₹ 100 notes be y

$$\text{Total} = 25$$

$$x+y=25 \quad \text{--- (1)}$$

Total amount withdrawn = 2000

$$50x+100y=2000$$

$$\Rightarrow 50(x+2y)=2000$$

$$\Rightarrow x+2y = \frac{2000}{50}$$

$$\Rightarrow x+2y=40 \quad \text{--- (2)}$$

$$x+y=25$$

$$x+2y=40$$

$$\begin{array}{r} x+y=25 \\ x+2y=40 \\ \hline (-1) \quad (-1) \quad (-1) \end{array}$$

$$-y = -15$$

$$\Rightarrow y = 15$$

$$x+15=25$$

$$\Rightarrow x=25-15 \Rightarrow x=10$$

(v) Fixed charge = ₹ x
Additional charge = ₹ y

Ruppee paid for a book kept for 5 days by Parvita = ₹ 27

Ruppee paid for a book kept for five days by Parvita = ₹ 21

$$\begin{array}{r} x+4y=21 \\ x+2y=21 \\ \hline (-1) \quad (-1) \quad (-1) \end{array}$$

$$\begin{array}{l} 2y=6 \\ y=3 \end{array}$$

$$x=21-6$$

$$\Rightarrow x=15$$

Ex-3.5

$$\begin{array}{l} 1. (i) \quad x-3y-3=0 \\ 3x-y-2=0 \end{array}$$

$$\begin{array}{l} a_1=1, b_1=-3, c_1=-3 \\ a_2=3, b_2=-1, c_2=-2 \end{array}$$

$$\frac{x}{b_1c_2 - b_2c_1} = \frac{y}{c_1a_2 - c_2a_1} = \frac{1}{a_1b_2 - a_2b_1}$$

$$\frac{x}{(-3)(-2) - (-1)(-3)} = \frac{y}{(-3)(-2) - (-2)(3)} = \frac{1}{(1)(-1) - (3)(-3)}$$

$$\frac{x}{6-3} = \frac{y}{-9-(-6)} = \frac{1}{-9-(-9)}$$

$$\frac{x}{3} = \frac{y}{-3} = \frac{1}{0}$$

$$\begin{array}{l} x = \frac{1}{0} \\ -21 \quad 0 \end{array} \quad \left| \quad \begin{array}{l} y = \frac{1}{0} \\ -3 \quad 0 \end{array} \right. \\ \Rightarrow x = 0 \quad \Rightarrow y = 0 \\ \text{(No Solution)}$$